el UUUOUOOLOOOUO

0oooo0obooooooooDb oo oo oo oooDbogoogoga
000000 we)ODODO 6100000000000000 ...,2_1,20,21,22,... 0000000

., U1, U, Ut, Uz, ... 0000 (discrete) 0000000000 Ou; =u(x;), (i =0, £1,£2,...)0
OO00000 zig1—z;=h=const. 00 0000000000000 O000OO00O0ODODOOO0 xo<x<x
O002x0000w(z)000 10000

- - 1
u(z) = xlh xz«ﬁ%“l + 5(96_360)(35_951)“3_|_...

ob0ooooooobooobD 00O 0000000000000 00000O0DDOO0O00O0O0O0OO0OO

— 1
u'(x) = Dt —(2z—zo—21)Uy +- -
h 2
@ _ .33
/u(m)dm =2 ;0 (uo+u(z)) — %ué{wh -
zo

gboooobbobobooobooobobobobooooboobOoooooobooooooboooboon
ubobooO00b000000000D00000000D000000DO00O000 2z=29,x, 0000000
ood

Uy —Uo

h
/hu(x)d:n = %h(uo—l—ul) +O(h?)

o

o
Ug = Uy =

+ O(h),

0000000000000 0o0oo0]=00000+[C0000]000D00000000000
000000000000 (truncation error) 0 00 0000000000000 OOOOOOOOOOO

u U
g g S
u Up
U
Kp XK1 oy Hq Kp H oMy oy
linear interpolation guadratic interpolation

U6l 0000000000
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0000 20000 Taylor 00O

1
u(z) = up+(z—o)up+ 2,(3: zo)%uf + 3'(33 zo)duf 4+
’U,’(gj) = U,B-{—(ZL”—ZL”())’U/O 2'(33 m0)2u81+
’ 1 2 1 3,1 1 4, 1m
u(z)ds = (x— xo)uo-l-z'(x—zo) ug+ 3'(.’5 o) u0+4'(:c xo) Uy +- -
ET)
w; = uo+ihug+ (zh)2 o+ 3'(zh)3 Ve (i=1,2,..0)

DDDDDDDIDDDDDDDDDDDDDDum%DDDDDDDDDDDDDDDDDDDDDD
00000000000000«/00000000000000000000000000000000
0000000000 Taylo 000000000000 0000000000000000000000
00000000000000000 -2, 2—2, 000000000 A00000000000000
000000000000 O(R?),0(*3)00000000000000000000 200000030
0000000000

000D00000000000000 u_y,u,w 00000000000000z_,<z<z 000
+0000uw(z)000 20000

u(z) = h12 { L (x—zo)(@—x1)U_1 —(.’c—xl)(z—z_l)uo+%(.’c—x_l)(rc—xo)ul}

3| —(z—z_1)(x—z0)(T—T1 Uiy ++ -

ggoooobobboooobobobobooboobon
u'(x) = W{(Z.’c—xo—xl)u_l—2(2$—$_1—x1)u0+(2$—$_1—xo)ul}

III

o {@=a0) o —0) @2 (w2 1)+ (=2 )(w—z0) !+

ot = CEE ) ) =)~ (_2—35_’
+ @z ) (@ —w) g+

oobzs00000000O00D000000O0

1
uf): 2h( U_ 1+U1)+O(h2)

1
uy = 2h(u 1 —4ug+3ur) + O(h?)

1
/ w(z)ds = %h(u_1+4uo+u1) + O
—1

oboboooooobooooooooboooboooooobbOoooooooboboooooobboobobbon
oboooooooooooooooooobooboboobbooooboOoob 10o0b0b0oobo0o0o0ooD 1
ooooobooobo0oob 1000 200000000 300040000000000000D0O1
oo030000o0ooboooooooooobobooo0ooooooooobo 200040000 20
ooboooooooooboooboooooboboooboooobobooboOoooooobooooOobobO0o0o0onooaog
oooboooooooobooooooboobobOobObOOoOoobOoooboobooooooooboooooooon
goooooobgo
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6.1 0O0OOO

0000 (numerical integration, numerical quadrature) 0 0 00O

/abu(a:) dz

000000000000000000 uw(x)000000D0000O0O0O000O0000DO0O00000 w,, (1=
0,1,2,...,n)000000 (discrete) 100000000000 [e, b0 00000000 OODODOOO
00000000000000000000«(z)00000'0000000000000000000
oboooOoObobOoooooooobbOoobbobooobobOoboOobOOobObObOOobObObOOobOobobon
0000000000000 000000000000000 Newton-Cotes0ODOOOODOOOOOO
gboboooboobob bol10obobooooooboooooooooobooobooooboOooooo10000n
00000000000 0DO0DODOO00000000 Newton-CotesUOOOODOOOO0O0O0OOOO
Gauss-Legendre 000000000 GaussOOOOOOODODOOOOODOOOOOOOOO Legendre O
uboboboo ;00000000000 b00000b0000o0oo0obOo0ooooboobooo

6.1.1 000000000000

00 u(z)d wo, vy, ...,u, 000000000000 u;=u(z;)ap=a<z <--<z,=0000
00n+100000000000009p,(x)000000000OO0OO0OOOOOOOOOOOOOO
Ogodo0ooooooooooooooooooo00 nOo0O0o0obo0ooO0ooO0oooooboaon

pn(2) = ap+arz+asz®+- -+ a,z"

0eé20000000DODUOODODLOD nOODOOODDOODOO we,w,...,uw, DO0OO0OO0OOOU
Ag, Ay, ..., A, 000000000D0O0D00O0O00DO0O0ODOOODOOOOODOOOOOOOOO0OO0O
goooo
b
gooooooooboboboboooobbogoboobtbdg agyae,---,a, 00 00000OO0OO0OOO
oddrn+1000000 ap,a9,...,a, 000000000000 0O0O0O0DO0OOOOOOOOOODOO
u I-_Iz_c,__,—o_—l_'T‘:.-\_ I

Ha Ha Ha ¥

062 000000000000

0000 (discontinuities) 10000000000 1,2,... 000000000000000000000000000O0O0
ooboooooo
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uobor-+100000000000
b
/dx:A0+A1 +-- 4+ A,

b
/ rvdr =Agwg + A1z + -+ Apzp (6.2)

b
/ x"dr =Ajxg + A1z + -+ Apz)
a

oo
b b 2 2 b n+l_ontl
b* — b -
/d:n:b—a, /xdz: a) SR /.’c”d:c:ia
o o 2 o n+1
00000 Ag, 4, ---,4,000 (62) 000000000 1000000000000
1 1 - 1 Ap b—a
To L1 ot @n Ay (b*—a?)/2
= . (6.3)
oy xl T, A, (b —a™ 1) /(n+1)
00000000000 VandermondeO 0000 Oz, 71, ..., 2, 0000000000 04y, Ay, ..., A,
000000000000 00O000O000OnD (6.3)00000 A, 4,...,A, 0000000000
gooooooooo
b
/u(az) dr = Agug+A1u1+---+A,u, (6.4)
O0000ooOoooooooooOU0 nO0O000 p(z2)0 «00 VOOODOODODODOOOOODOODO
000 62000 uwp, uy,...,u, 000 n000000000000000O0O0CO (64)00000wu=
Pn(T0), u1 = pu(1), "+, Un = Pu(x,) 0000 0p,(x;) = ap+ar(z;)+--+an(x;) (6 =0,1,...,n)0

0000Oo (6.2)0 00000000000

b
=ao(Ao+A4A1+ - +A4,) +ar(Aozo+ A1+ -+ Anzy) + - - + an(Aozg + A1z" +- - -+ Apz,))

b b b
= ay d$+a1/xdx+---+an/:c"d:c

a

/abpn(x)dx

gboooobooooobd

obbOo0oooooO0o oooooodbooobobodn=2~400000000000000000
oboooooboooboobobooOooobOoooOooo0oooooooooooooooobooboboOoooDbo
000 A, 0000000000 O0D000DOO0
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SUBROUTINE NUMINT (x,u,if,s)

DIMENSION x(0:if),u(0:if),A(0:4),x1(0:4)

REAL(8) v(5,6),wa(6)

w=x (if)-x(0)

FORALL (i=0:if)x1(i)=(x(1)-x(0))/w

DO i=1,5
v(i,6)=1./FLOAT(i)
IF(i==1)THEN; FORALL(j=1:5)v(1,j)=1.
ELSE; FORALL (j=1:5)v(i,j)=x1(j-1)*v(i-1,3)
ENDIF

ENDDO

det=1.; e=0.

CALL GAUSS(v,wa,5,6,det,e)

FORALL (i=0:if)A(i)=w*xv(i+1,6)

s=0.

DO i=0,if
s=s+A (i) *u(i)

ENDDO

ENDSUBROUTINE

! Solution of simultaneous linear equations by Gaussian elimination
SUBROUTINE GAUSS(a,wa,n,nl,det,e)

REAL(8) a(n,nl),wa(nl)

det=1.

e=MAX(e,1.E-5)

cycle_1: DO k=1,n; 1=k

w=a(k,k); IF(ABS(w)>e) GOTO 11
1=k; 12 1=1+1; IF(1>n)STOP 5555
w=a(l,k); IF(ABS(w)<=e) GOTO 12

FORALL (j=k:n1)
wa(j)=a(k,j); a(k,j)=a(l,j); a(l,j)=wa(j)

ENDFORALL

det=-det; 11 det=w*det

FORALL (j=k+1:n1)a(k,j)=a(k,j)/w

IF(k==n)CYCLE cycle_1

FORALL (i=k+1:n, j=k+1:n1)a(i,j)=a(i,j)-a(i,k)*a(k,j)
ENDDO cycle_1
DO k=n,2,-1

FORALL (i=1:k-1)a(i,nl)=a(i,nl)-a(i,k)*a(k,nl)
ENDDO
END

ob0ooogoobboe2000000Db0OODOOO0OOODOOOOOOOOOOOOO0OO0O0 a=a9—
0, b=2,—- 1000000000 x1000 000 1000000000ODO00O00O0O0O0OOOOODODOO
O000000000sO000000cGAUSSOODO 100000 GaussOOOOOOOOOOOOOOa,v
oob1o0000000b0bi0b0 - 00000000000 D0n1=n+1000 waOOOOODODOODOO
000000000 0qetd000O00e00D0OO0OO0OO0O0ODOOO0OOCOOODOOOOODOODOOODOOO
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6.1.2 Newton-Cotes OO

O00O0OC0OCOO00DOoOOOU00UOoOoOOn 4,4, ...,A,000000O00O0DOO0ODDODODOO
A;=aha; (i=0,1,...,n)0AR00000000a0 ;0000000000

a agp a a2 asz (2 as ag

1/2 1 1 gooao

1/3 1 4 1 Simpson 1/300
3/8 1 3 3 1 Simpson 3/8 00

2/45 | 7 32 12 32 7
5/288 |19 75 50 50 75 19

1/140 | 41 216 27 272 27 216 41
6/200 ] 1 5 1 6 1 5 1)| (WeddleOD)

S O W =3

Newton-Cotes 00000000 0000 [6, 0000000 nO00O0 NODDOOOOODODOOOO
OO0 h=(b—a)/NOz;=29+ih (i=0,1,2,..., N)Ozg =a, ay =0000000000 u; = u(x;)
gbobboooooobooboooo

00000 »=100000 (00O trapezoidal law) 00000 00000000000 OOOOO
ood

TN 1 1
/ u(z) do = h(§U0+u1+u2+- . -+uN_1+§uN)

o

OO0 n=20 Simpson 1/30 0000000000 N=700000 Simpson 3/8000000000O
obooobooboooooo

N 1 3
/ u(z)de = gh(u0+4u1 +2us+4uz+uq) + gh(u4+3u5+3u6+147)

To

00 Newton-Cotes0 00000000 (truncation error) 0000 OSimpson D 1/300000000
0000 u(z)d TaylorOO

1 . 1 1
u(r) = u0+(:c—:co)ug-l-§($—$0)2u8+§($—$0)3u6"+E(:c—:co)‘lué‘l) 4.

000 [z, 2] 0000000 DOOOOOOO

w2 ‘ 4 2 4
/ u(z)dr = 2hu0+2h2u6+§h3u6’+§h4u8'+1—5h5u(()4) + -
zo

O000000000000000 00 [z, 22]0 Simpson 1/3000 Taylor 00000000 O00O0OO

1 . 4 2
gh(uo +4uy +uy) = 2hu0+2h2u6—|—§h3u6’+§h4u6"—|—1i8h5u84) +---

oooooooooooono
/J?Zu(:n) dx = lh(uo—l—4u1—|—uz) - ih5u(4)
0 3 90

O000000000000000 Simpson 1/30000000000000000000 Simpson 1/30
O0O000o000oo0o0o0oDooOo0Od N=(b—a)/2h000000000000OO0OO
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Simpson 1/3000 40000000000000 O(MY)ODOODO
OO0 Newton-Cotes DO OODODOOOOODOOOODODOOOOODOO

n 1 2 3 4 5
b—a,, , b—a,, (4) b—a,, (4) 2(b—a) ¢ (6) 55(b—a) 4 (6)
| g gt s e o5 ¢ 12006 " Y

Taylor 000 00000000000 O0DOO000 ODODOOOOOODODODOOO TaylorOOODODDO
000000000020000000n000000000000OOOOOOOOOOOOO0O00O0O0
o0 oboobooOooooooboooooobooooobooboooooooooboooboooooooon
ooooooDoDOo0oOoOoDODOOC000OO0000000000D nOO0O00 Newton-CotesdOOODODO
A, 00000OOO0O0OoOoOOOOO0OO0OOO0OO0O0OO0OO0O0COOO0OOO000OCODOOCOOCOOOBDO
dbobobooobooobooboooooboboooooooooooobo nO00OO0OODbOOOO00O0OO
gooo

0 0000000 w(r)0D 1000000000 Newton-CotesOODOOOOODO
100000 NODODOOO Simpson 1/300000000000000O0O

TN 1
/ u(z)de = gh(2u0—|—4u1—|—2uQ—|—4U3—|—2u4—|—- 4 2un_ot+4dun_1)

To

000000000000 Simpson 1/3000000000000000000O0DOODOODOOOODOO
oboooboooboooooooooooooobooonog

TN 1
/ u(z)de = gh(2u1 +4us+2uz+4us+2us+- - -+2uny_1+4uy)
)

ooboooooooOobOobooooooooon

TN
/ u(z)dz = h(uo+us +us+us+---+un_1)

o

oboobooooooooboooboboboo 1oobobobboboob0en=pU0d00000000O
oboboooOooobO0ooooobo n0O000OO0O00DOO0O0O0OOO0OO0bOO0ObO0O0O0O0O0OO0O0bO0O0O
goooboboooooobooboooobooooobOooobboobooooboobooboobooobooon
Ul1go00oo0o0obooobbboobooooobooooooooooooboooooooooonoo

6.1.3 Gauss-Legendre 1 0

00 [z0, z,]000000000000D0000 w0 «,00000000000000 u(zy2)000
00 AO0D000000000O0000000000O [z, 2]0000 Simpson 1/3000000000
O w,uw,uw000000000O0CO0COO0ODOOOODOOODDODOOOOOOOOOOODODO
Gauss-Legendre 0 0 00000 GaussOOOOOO0OOOOO0OnR+10 Legend,eD00OO0O n+10000
obOoooobooobobooood2n+100000000000D00000000O0OOODOO0OOOO0OO
goo0o000ooooO0oUooU0oUoOOo0oOU0U00UO 0O 0DUOoOUOoOoOoOOoOoOoUoUooo
goooooooopoOooooO0OoOpoU0OoOoOoOOoOO0OOOOOOOOOUOOOOODOOO

2000 (smooth) 0000000000000 00000DODO000OO0DONDNONDOOO0O00O00 (sufficiently smooth)
gbooooOoooOoO0OO0OO0O0000CO0OO0OO0OO0O00COOOO0O00COOOOCOOOOO0OO0O
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Legendre 000000000 O0OO0O0OO0OOODOOOOCOOOOODO [-1,1)]000000 [q, 0000
gobooooo
atb b-a,

2 2
000000 [-,1)000000000

T =

b 1
/a(z) di = b—2“ u(z) dz
a —1

000000 n+100000 w(z;), i=0,1,...,n) 000 nO0000000000O0OOOOOOO
0000000000 2n+10000 popi(x) 000000000 DCOO0OOOOOOO

P2n+1(2) = pn(2) + a(z—zo)(z—21) - - - (£ =2n) gn (@) (6.5)

000 ¢0D0O0O0OO0OO0g,(z) 000 0000000000000 0O0O [-L,1]000000O00O0O0OO
gao

/11p2n+1($) dx = /1pn($) dx + /1a(az—azo)(az—az1) s (z—zy) qn(z) do (6.6)

- -1 -1
o000 zo, 1, ..., 2,0 n+100 Legendre 000 P, (x) 000000000 a0 a(z—zo)(z—x1) -+~
(t—22) = Poy(x) D000O000DOD0DO0D0 (660000 10000 (6400000000 (6.5)

00000000 pa(zk) = pansa(z), (k=0,1,...,n) 0000000000000

/ pu(7) do = ZAip2n+1($i)

-1 i=0
000 (6.6)0000 200 0Legendre 000000000
1
/:UTPm(a:)dazzo (r=0,1,...,m-1)
-1

oo00O00000000000000 Gauss-Legendre 00 0OOODOOO0O0OO

1 n

[ prs(@)ds =3 Aipania () 6.7)
-1 =0

000 ;0 n+10 Legendre 000000000 4,00 (6.3)00000000000000O0O0OO;

0 A000000000000

n T A;

0 0 2.0

1| £.5773502 1.0

2 0 +.7745966 .8888888  .5555555

3 | £.3399810 +.8611363 6521452  .3478548

4 0 +.5384693 £.9061798 | .5688888 .4786288 .2369268
5 | £.2386191 +.6612093 +.9324695 | .4679140 .3607616 .1713244

Gauss-Legendre 0 0000000 [@, b)) 0000000000000 O00000O00O0O0O

(b —a)*"t? (n+ 1)! 2, (2n+2)
2n+3 |n+2)(n+3)---2n+2)| 2n+2)!

[



goooood M M M 00oooo 9

U Dobooooooooboooobooobobooboooao

2
d
1= £ =os
1 :L'
D000 3005007000000000 Simpson 1/30004000000000 Simpson 3/8 0
003000000000 n=20 Gauss-Legendre 00000 000000000000

om m m oooo (oboo o0ooobogoo

trapezoidal (n=1) 7 50115 +.00115
Simpson 1/3 (n=2) 3 50463  +.00463
5 .50042 +.00042
7 .50009 +.00009
Simpson 3/8 (n=3) 4 50219 +.00219
7 .49695 —.00305
Newton-Cotes (n=4) 5 50014  +.00014
Newton-Cotes (n=6) 7 49556 —.00444
Gauss-Legendre (n=2) 3 49988  —.00012
Gauss-Legendre (n=3) 4 49999  —.00001
Gauss-Legendre 00 00000000000 OODDO
1t dz .05595 .88888 .53555
[ _ = 49988
2 /,1 15+ 52)2 ((3.—.77460)2 T (3.+.77460)2)

0000000000000 00000 000000000000 000000OSimpson3/800000
00 70 Newton-Cotes 00 (n=6)0 00 00000000000O00O0O0OOOOOOOOGauss-Legendre
dboooooobooooooooooobodoooooboooooooboo

6.2 JUULOOOUoogooon

O0O00o0o0o000o00oo0o0 w=uw(z,) 0000000 w(z)DODODO0OODOOOODOOOO
O0w(z)DOOO0ODOO0O0OO0O0O0O0O0OOO00OD0O00O0O000O0000O00000O0O0 LagrangeO0OO0OOO
gbobO0ooooOoooooobooooooboooooooooboobbooooooon

6.2.1 LagrangeOOOOOO0OODOOOO

01000000000000000000 Lagrange0OD0OO0OOO00O0O0DOOOOOOODOO
000300 LagrangeJ 00000 O0O0DOO0OD0OO00OO0O0DOOOOODOOODOOOOODOOOOOOO
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ooooDoO0O000000ooDo0O0oO0O0O00Db00DObO30 LagrangeD OODOODOOOOODOODOO

3
u(@) = CYE) timrtn (6.9)
k=0
3o E(hi =& (hi4+hy—&) 3.0y _ (ho+&)(h1—=&)(hi+h2—¢)
q”a"_hdhwwhxhwwh+hg’ Cr(6) = hohy(hi +hs) ’
30 (ho+&E(h1+hy—8) Y (ho+£)&(h1—¢&)
C3(6) = (ho+hi)hihs C3(6) = (ho+hi+hs)(hi+hs)ho

000 €=x—a4, ho=xi—Ti1, hi = i1 —2;, ho =wi2—2, 0000000000000 O0O00O0
00000000000 10000000 3000000000000000D000000O0DOD0

-~ B E -1 +hy—§) ] f_(l—f_)(l—’”L_OWLh_z—f_)u,
u(z) = (1—u;+Euipr o (L+ Tro) (14 it ) i1 o (14 12) i
£(1=8)(ho—ha+§) £(1=8)(ho +&)

+

he(ltho) T Ryt he) (At hoth) 2

000 &€= ¢/hy, ho =ho/h1, ha =hy/p, 0000000000000 [z, 24,]0000000000
0000000000000

Fitl 1 1 1+42h.
/ u(z)de = §h1 (Wit uit1) + —=h +2hs

12 _Ho(1+ﬁo)(1+ﬂo+ﬁ2
1—2504—252 ].+2hjo—2h} 1+2ﬁo
= = i = = Ui+l — = = = 7\ di+2
ho(1+hs) ha(1+ho) ha(1+4hs)(14+ho+hs)

)ui—l

i

(6.10a)

00000000 [z, )0 00000000 OOO0OCOOOO

e 1 1 3+4hy +2hs
der = =h —ho|— — —
/z u(z) dx 5 0(U0+U1)+12 0[ o) (Lt
1+4ﬁl+2hj2u _ 1+2ﬁl+2ﬁ2u 1+2ﬁl
h}(h}-ﬁ-h}) ! 5152(14-51) 2 Hz(h}-ﬁ-h&)(l-ﬁ-h}-}-ﬁz

)0

yus (6.10b)

00000000 € =¢/ho, hy = hi/ho, hea = ho/he 000000000 hg=hy =hy, =h00000
00D000000000000000

Tit1 h
/ u(z)de = ﬂ(—ui_l+13ui+13ui+1—ui+2) (6.11a)
:l';l h
/ ’U,(:U) dr = ﬂ(9U0+19U1 —duy +U3) (6].].b)
@0

gbooooboooooooboooooooooooog

/WN( )dz = h{ S ot Sty ety iy g iy e+
u\xr)ar = — U —Uu — U —U u u, o TUN—
o 24 0 24 1 24 2 24 3 4 5 N—4

25 20 31 8 }

+—UN_3+ —UN_—2+—=UN_1+—UN (6.11c)

24 24 24 24

obooooboboooobooobboobobooooooooobbooooboooboobooboooooOooDbo
oooobooooooooobobooboooboooboooobooooOooboOobOOobOOooobbooooon
gboooooboboboobooboobobooooooooo
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6.2.2 00000 OO0OO0OO0OOOO

00000000000 4.30000000000000 [24, 2:44]0 3000000000 30000
S(x) = ap(1—a)’+ar10’ +as(1—a)+aza (6.12)

00000 ag, a1, a2, as 000000000 S(a;), S(wis1), 8" (x;), S"(2:4,) 000000000000
0000000000000000000

Ag? Ar2 Axp 2
= %{(1—04)3”;'4_0[3@'4_1}+(1—a) (ui— gl u;’)—ka(uiﬂ—%ugq_l) (613)

000 Az; =zi41—z, a=(z—z;)/Az; 00 003000000000000000 ;000000 3
00000000 20000000000000000000000000000000 4, z41]000
obobooooooon

S(z)

Tyl 1
/ u(z)dr = Az | S(a)da
T 0

i

Azf " " Azi A.’L‘f " AIZ? "
— T(ul +ui+1)+7{(ui— G ui)+(ui+1—Tui+1)}
3

1 Az
= S Aei(uituin) - 2“22 () +ull, ) (6.14)

w/000000000 43.100000000000 10000000200000000000000
00000000000000000000AzpY/510000

000000000000 0000000000000000000000000000 100000
0000000000

S(z) = ap sinh ((1—a)Aa:ipi) +ay sinh(aAz;p;)+as(l—a)+aza

gbooboboooboooobbooooban
1

u(z) = 7 sinh A {sinh((1—a)Az;p;)u +sinh(aAz;p;)ul,, }

1 1
+ (1_Oé) (ui—Fu;’)—f—a(qu—pu;g_l) (615)

000 p, 000000000000 0000000000000000000000000 Ag;00000
oboooooooboboooOoboboOoooboobbooboOoboobooboooboooOooboOoooonog

Tit1 L1 cosh(Az;p;)—1  Az;\, ,
/w u(az)daz = §A:UZ (U1+Uz+1) + (m - 2pi2 ) (U’i +Ui+1) (6.16)

v/ 000000000 43.20000000000000000000000000000000000
oobobooOooobOoooooooooooboobobooboobooboobooOoOoboobOooOooobooooo
uboooobboooooboooooboboobobooooboobuobobooboobooooboooon
gbooooObooooooboobooooooboooboooobooobooong

oooooooboboooooooooobobobobobooboo 3b0boooooboooobooooboooboo3d
0000oooooo (6.12)00000oUooooooo

1 1
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uy’ = ﬁ{A3“i+1/2+Z(m_—2—m+)A wit1 } + O(R?) (6.41c)
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Aluiig)y = m—o(ﬂzuiw—ﬂzuwl); Atugyy = %(A3ui+3/2_A3ui+l/2)

o0 mtt = ($i+3_$i+2)/h, m=m"+mo0d0ad0Qd
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u"(z) = (1—a)ui +auj,, (6.47Db)
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U’(ZL”) = m{—cosh((l—a)Axipi)ug' + cosh(anipi)u;g_l}
1 1 1 1
- A—xl(ul—]?u;') +A—$i('[lli+1—p’u;’+1) (6483)
u"(x) = S Az {sinh((1—a)Az;p;)u +sinh(aAz;p;)ul , } (6.48b)
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u"(z) = (1-a)ui +auj,, (6.49Db)

1
{—(l—a)zu"+a2u;'+1}+ (—az+as) (6.49a)
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1 1 /logR _, ‘
’U/(ZL’) = A_:L- I:Aui+1/2 + m (Rg—]_R _1)A2Ui+1] (6503)
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(log B)” pa p2,,, | (6.50D)
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